Q39 Pob (30 (f.g,9.n)

O
A

Y

S~

Qs KA XTn- 1 Ve tible 7

gi Knd=0 Dby Jl .
oln]- fo 7g>¢’ all  ce n

v%Y all odd

N Dnd > yrnd =0, e all A

X2Th) ——> YU LA =0 v&’ all Ao

—> [t owertisle

“Yend= XLi-ATj [rvetible 7

4%5 %DZF@CF{QJ rl-1C, Nn=(2
@ ertible

Wf)v =—Xe) [nvertible 7

e X)=0, %=1

NE) ——= G =0
) —= gst) =0

— Mo+ rnvertible. |
> %Uf\] [’)CU\/; e s Llen mg)myg

e 3
S s AL %D—fz]
_:> ThV@/Tib/Q'




frs:

Juiagt it *Q-r “the  taams

Considyr a_ slidig wind, '
g idh) gy
System T

( Y

%D,D - In S /X&g—] \
min (S, n) + | %:W(O/V\\é) fF;’é
X ] N=0

The Inwese  systam <
XCn] = gjﬁ\? # n=Y
(9] - Yl g Isns<§
(4B (YO0 4 Kinb] T 65T




